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ppm ppm 2] =] mg/m3 | mg/m3 A =] ES ppm ppm ppm 2] =] ppm ppm 2] ppm ppm =] weg/m3d| wg/m3y| H % (ppmC) | (ppmC) [ (B)
—h% [ S Lz FE&AT| 0.028( 0.050 1 0| O| 0.041| 0.104 8 5 X x [ x| 0.026] 0.043| 0.124 64 2| x| 0.002 0.007 0O O 0.6 1.4 0] O[O 0.42 1.61 212
Eich=d 0.029( 0.054 1 0| O| 0.040( 0.101 8 5 X x [ x| 0.027| 0.046] 0.125 67 3| x| 0.002 0.007 0O O 0.6 1.5 0O O
Enis 0.026( 0.052 1 0| O| 0.041| 0.107 12 7 X x [ x| 0.028] 0.048| 0.130 85 4] x| 0.002 0.007 0O O 0.6 1.3 0] O[O
aR 0.031( 0.050 1 0l O| 0.035[ 0.090 3 0] O O| x| 0.025( 0.043] 0.139 59 7] x| 0.006( 0.011 0lO|O 0.51 1.86 306
58 0.023( 0.040 0 0| O| 0.043[ 0.110 12 8 X x [ x| 0.029] 0.053| 0.162 114 16 x [ 0.002| 0.008 0O O
R 0.024( 0.041 0 0| O| 0.041( 0.094 4 2 X x [ x| 0.025| 0.047| 0.148 83 7] x| 0.002( 0.007 0lO|O 0.6 1.2 0 0.33 1.13 164
bax:!l 0.023( 0.044 1 0| O| 0.038f 0.101 8 4 X x [ x| 0.028] 0.048| 0.131 81 3| x| 0.005( 0.010 0O O
RE 0.028( 0.052 1 0| O| 0.037 0.099 6 2 X x [ x| 0.025| 0.042| 0.137 54 4] x| 0.006( 0.013 0| Of x 0.6 1.2 0O O
b=2i:] 0.026[ 0.050 1 0] O] 0.047 0.102 9 5 X x | x| 0.026] 0.044| 0.121 62 1] x
[&£EHE] X 0.026( 0.048 1 0 0.040( 0.101 70 38 0.027| 0.046| 0.135 669 47 0.003| 0.009 0 0.6 1.3 0 0.42 1.53 227
Sk EN=F 0.041| 0.069 23 16 x [ 0.041] 0.100 7 4 X x| x 0.004( 0.011 0lO|O 0.8 1.8 0O O 0.79 2.36 365
Pud=k:3 0.034( 0.057 4 0] O| 0.046( 0.097 4 2 X x| x 0.7 1.6 0] OO
=i-1=F: 0.038( 0.061 8 1] x| 0.037| 0.082 7 3 X x| x 0.8 1.7 0] O[O 0.55 2.72 218
KB BB 0.029( 0.047 0 0l O| 0.039( 0.097 6 4 X x| x
HE B 0.033| 0.049 1 0] O] 0.025[ 0.058 1 0] O O x 0.7 1.4 0] O[O
[&aHE] X 0.035[ 0.057 36 17 0.038| 0.087 25 13 0.004( 0.011 0 0.8 1.6 0 0.67 2.54 292
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ppm ppm B B mg/m3 | mg/m3 [ B =] gg ppm | ppm ppm B B ppm ppm B ppm | ppm =] wue/m3| we/md| H % (ppmC) | (ppmC) | (H)
— g | S L= EHHRRT| 0.026) 0.052 0 0| O| 0.037 0.095 4 0] O O| x| 0.024( 0.040| 0.146 49 4] x| 0.002 0.005 0]O| O 0.5 1.3 0] O[O 0.42 1.43 200
B/E 0.028( 0.055 4 0| O| 0.037 0.096 4 2| O x [ x| 0.026] 0.043| 0.150 45 5] x| 0.002 0.004 0]O| O 0.6 1.4 0jOfO
Enis 0.024( 0.051 1 0| O| 0.036( 0.096 2 0] O O| x| 0.027| 0.044| 0.183 69 7] x| 0.002 0.005 0]O| O 0.5 1.2 0O O
aR 0.030( 0.054 1 0] O| 0.036( 0.087 2 0| O O| x| 0.022( 0.037| 0.139 39 1] x| 0.005| 0.010 0O O 0.45 1.36 260
58 0.021( 0.040 0 0| O| 0.038| 0.094 6 4 X x [ x| 0.028] 0.049| 0.198 99 9] x| 0.003[ 0.009 0]O| O
BB 0.024( 0.044 0 0l O| 0.033[ 0.080 2 0| O O| x| 0.026( 0.047| 0.215 84 9] x| 0.002 0.004 0]O| O 0.6 1.2 0 0.31 1.42 152
haxill 0.022| 0.045 0 0| O| 0.043[ 0.105 9 3] O x [ x| 0.029] 0.050| 0.188 90 10 x [ 0.005| 0.009 0|O| O
RE 0.029( 0.056 1 0l O| 0.035[ 0.094 5 0| O O| x| 0.023( 0.038] 0.170 45 2| x| 0.005( 0.010 0]O| O 0.6 1.3 0jOfO
b=2:] 0.025[ 0.052 1 0] O] 0.041| 0.099 5 2 X x| x| 0.027] 0.045| 0.173 73 5| x
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Sk EN=F 0.038| 0.063 18 11 x [ 0.040] 0.096 6 2| O x| x 0.006( 0.011 00| O 0.8 1.7 0O O 0.70| 2.57 350
Pud=E:3 0.033( 0.056 3 0| O| 0.042( 0.093 4 2 X x| x 0.8 1.7 0O O
=-1=F: 0.036( 0.060 6 0| O| 0.041| 0.105 10 6 X x| x 0.7 1.5 0O O 0.57 1.83 263
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HE B 0.032| 0.056 2 0] O] 0.031f 0.080 1 0] O O x 0.6 1.5 0l|O[O
[&aH1E] X 0.034| 0.057 30 11 0.038[ 0.092 23 10 0.006( 0.011 0 0.7 1.6 0 0.64] 2.20 307
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ppm | ppm B 2] mg/m3 | mg/m3 [ B 2] ES ppm [ ppm | ppm B 2] ppm | ppm B ppm [ ppm 2] ue/m3| pe/my| A % (ppmC) | (ppmC) [ (H)
— i | S EmERR| 0.028] 0.047 0 0| O| 0.034| 0.085 3 of O Of x| 0.024] 0.039( 0.135 44 2| x| 0.002| 0.005 00| O 0.5 1.0 [ el Ke] 0.30] 0.97 133
RE 0.027| 0.047 0 0| O| 0.034( 0.090 6 5 x x| x| 0.026| 0.047| 0.197 11 7] x| 0.001| 0.004 0fO|O 0.5 1.2 0fO|O
Efi5 0.024| 0.045 0 0| O| 0.032( 0.081 2 o O O x| 0.028| 0.048( 0.203 81 10| x [ 0.002| 0.005 00| O 0.5 0.9 0fO|O
BR 0.031| 0.050 1 0] O| 0.035( 0.074 1 o O Of x| 0.023] 0.037( 0.108 36 0| x| 0.006( 0.011 0]O| O 0.36| 1.16 185
52 0.019| 0.033 0 0/ O| 0.035( 0.084 2 o O Of x| 0.027| 0.048( 0.173 87 10| x [ 0.002| 0.005 00| O
Ei1=-] 0.023| 0.040 0 0] O| 0.033( 0.081 2 o O Of x| 0.026] 0.048( 0.170 90 12| x [ 0.002| 0.004 0fO|O 0.5 0.9 0 0.29] 0.98 129
bax:l 0.022| 0.039 0 0| O| 0.032( 0.082 2 of O O x| 0.031] 0.052( 0.205 104 10| x [ 0.005| 0.008 00| O
= 0.029| 0.049 2 0| O| 0.031| 0.080 1 o O Of x| 0.023] 0.038( 0.138 36 3| x| 0.006( 0.010 0fO|O 0.6 1.1 0fO|O
A 0.024| 0.045 0 0] O| 0.036[ 0.091 3 0| O O x| 0.028] 0.046( 0.155 63 5| x
[&£3HE] X 0.025| 0.044 3 0 0.034| 0.083 22 5 0.026( 0.045| 0.165 618 59 0.003| 0.007 0 0.5 1.0 0 0.32] 1.04 149
B |dABH 0.036| 0.058 5 0l O| 0.036| 0.087 5 4 X x| x 0.007| 0.012 00| O 0.7 1.4 0O O 0.68] 2.19 359
bud=F: 13 0.032| 0.050 1 0] O| 0.039| 0.087 3 2 X x| x 0.7 1.3 0fO| O
ZiEas 0.034| 0.058 4 0] O| 0.037 0.088 5 3 X x [ x 0.6 1.2 0fO|O 0.50| 1.18 228
pitl=: 1=k 0.031| 0.050 0 0] O| 0.033 0.082 3 3 x x| x
RE B 0.033[ 0.051 3 0] O| 0.032 0.078 1 0| O O] x 0.6 1.2 00O O
[£:HE] X 0.033] 0.053 13 0 0.035| 0.084 17 12 0.007| 0.012 0 0.7 1.3 0 0.59] 1.69 294
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ppm ppm B B mg/m3 | mg/m3 [ B =] gg ppm | ppm ppm B B ppm ppm B ppm | ppm =] wue/m3| we/md| H % (ppmC) | (ppmC) | (H)
—fg | S L= EHHRRT| 0.025) 0.047 0 0| O| 0.033| 0.083 4 of O O| x| 0.024( 0.040| 0.166 55 3] x| 0.002 0.005 0]O| O 0.4 1.0 0 0.24] 0.82 93
B/E 0.025| 0.047 0 0] O| 0.033| 0.082 3 o O O| x| 0.025( 0.043] 0.143 n 8| x| 0.002 0.007 0]O| O
Enis 0.024( 0.044 1 0/ O| 0.030( 0.074 1 o O O| x| 0.031| 0.053] 0.181 108 15[ x [ 0.002| 0.006 0]O| O 0.4 0.9 0
aR 0.030( 0.052 1 0] O| 0.034( 0.080 3 o O O| x| 0.028( 0.049]| 0.163 95 13[ x [ 0.004| 0.011 0lO|O 0.38 1.45 179
58 0.015| 0.028 0 0/ O| 0.033 0.078 2 o O O| x| 0.028f 0.051| 0.181 101 12 x [ 0.002| 0.006 0]O| O
BB 0.022| 0.040 0 0| O| 0.031( 0.091 5 o O O| x| 0.026( 0.049]| 0.188 109 14 x [ 0.002| 0.006 0]O| O 0.4 0.9 0 0.29 1.07 127
haxill 0.019| 0.040 0 0| O| 0.034| 0.086 4 of O O| x| 0.033( 0.055| 0.176 114 14 x [ 0.005| 0.008 0]O| O
KE 0.028( 0.052 2 0| O| 0.030( 0.078 1 o O O| x| 0.024( 0.041] 0.122 53 2| x| 0.005( 0.010 0]O| O 0.5 1.0 0jOfO
b=2i:] 0.024| 0.047 0 0] O| 0.036[ 0.080 2 0| O O] x| 0.028[ 0.047] 0.172 78 12| x
[&£&HE] X 0.024( 0.044 4 0 0.033| 0.081 25 0 0.027| 0.048| 0.166 784 93 0.003| 0.007 0 0.4 1.0 0 0. 30 1.11 133
Sk ;R N=F 0.031| 0.053 0 0] O| 0.033 0.078 5 o O Of x 0.006( 0.012 0]O| O 0.7 1.3 0O O 0.67 1.75 357
Pud =k 0.029| 0.050 0 0] O| 0.037 0.076 1 0| O Of x 0.6 1.1 0O O
=i-1=F: 0.027| 0.049 0 0] O| 0.038 0.102 8 1 O x| x 0.6 1.3 0O O 0.52 1.54 243
RANE B B 0.029| 0.048 0 0] O] 0.029f 0.068 2 0] O Q| x
[&EHE] X 0.029| 0.050 0 0 0.034[ 0.081 16 1 0.006( 0.012 0 0.63 1.23 0 0. 60 1.65 300
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ppm | ppm B 2] mg/m3 | mg/m3 [ B 2] ES ppm [ ppm | ppm B 2] ppm | ppm B ppm [ ppm 2] wue/m3| ug/m3y| H % (ppmC) | (ppmC) [ (H)
— % | S Lo EHRAT 0.026] 0.048 2 0] O| 0.029( 0.075 1 0of O [O] x| 0.025( 0.041| 0.148 68 3 x| 0.002| 0.004 0jO[O 0.4 1.0 0 0.30] 1.30 122
R"E 0.025( 0.047 2 0] O| 0.030( 0.077 3 of O [O] x| 0.031f 0.053| 0.209 105 16 x | 0.002| 0.004 0lO(O
Eni5 0.023| 0.047 4 0] O| 0.032( 0.077 1 0of O [O] x| 0.031 0.054| 0.213 101 14 x| 0.002| 0.005 0lO[O 0.4 1.0 0
BR 0.026| 0.046 1 0] O| 0.036( 0.076 0 0] O [O|O]| 0.025( 0.045( 0.196 88 10( x| 0.002| 0.005 ofOo|O 0.40| 1.54 215
EE 0.016( 0.029 0 0] O| 0.032( 0.077 0 0l O [O|O]| 0.030f 0.053[ 0.233 108 13( x| 0.001| 0.004 0jO[O
il 0.022( 0.038 0 0] O| 0.032| 0.076 1 0f O [O] x| 0.030 0.054| 0.244 108 16 x| 0.002| 0.005 0O O 0.4 0.9 0 0.29| 0.97 128
Jaki L 0.019( 0.038 0 0] O| 0.034| 0.082 2 of O [O] x| 0.032 0.054| 0.200 105 15( x| 0.005| 0.008 0lO[O
XE 0.026]| 0.048 2 0] O| 0.032| 0.083 3 0of O [O] x| 0.025( 0.043 0.179 79 6 x| 0.005| 0.010 0O O 0.5 1.0 0100
= 0.022| 0.041 2 0] O| 0.038( 0.087 3 of O [O] x| 0.029( 0.051| 0.221 84 13] x
i 0.021] 0.040 1 0] O| 0.034] 0.091 3 0f O [O] x| 0.033{ 0.055[ 0.196 113 15[ x | 0.002| 0.006 00| O 0.20[ 1.09 66
[sEHE] X% 0.023] 0.042 14 0 0.033] 0.080 17 0 0.029]| 0.050| 0.204 959 121 0.003] 0.006 0 0.4 1.0 0 0.30 1.23 133
B (sABEH 0.033| 0.055 1 0] O| 0.034| 0.076 1 00 O |Ofx 0.004| 0.011 00O 0.7 1.3 010| 0O 0.62) 1.91 350
=3 0.030( 0.051 1 0] O| 0.038( 0.087 2 00 O |[Ofx 0.7 2.1 00O
=A% 0.032( 0.051 1 0f O| 0.041] 0.101 8 1 X x [ x 0.5 i, 1 00O 0.53| 1.52 269
RFIE B # 0.027( 0.046 2 0f O] 0.030| 0.075 1 0] O [Ofx
SHAEBH 0.030( 0.058 6 0] O| 0.032| 0.076 1 00 O |Ofx 0.6 i, 1 00O
i) =R 0.029] 0.050 2 0] O| 0.036] 0.085 3 0] O |Ofx 0.19] 0.75 40
[&5HE] X 0.030| 0.052 13 0 0.035| 0.083 16 1 0.004] 0.011 0 0.6 1.4 0 0 1.39 220
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% Baf | & b @
A% |0oEE AENE
ppm ppm B =] mg/m3 | mg/m3 B =] ES ppm ppm ppm B =] ppm ppm B ppm ppm B pg/m3| peg/m3| H % (ppmC) | (ppmC) | (B)
—h% [ S Uz FET&AT| 0.024( 0.046 0 0] O| 0.029( 0.073 0 0] O O| O] 0.027| 0.043] 0.141 70 3| x| 0.001| 0.003 0O O 0.4 0.9 0 0.27 1.00 102
Eich=d 0.024( 0.044 0 0| O| 0.028( 0.070 0 0] O O| O] 0.029| 0.049| 0.169 93 10{ x [ 0.001]| 0.004 0O O
Enis 0.022| 0.043 0 0| O| 0.031 0.078 0 0] O O| O] 0.033] 0.054| 0.183 109 14 x [ 0.001| 0.004 0lO|O 0.4 0.8 0
aR 0.026( 0.044 0 0| O| 0.034( 0.068 1 0] O O| x| 0.028| 0.049( 0.177 82 11 x [ 0.001| 0.003 0lO|O 0.21 0.77 72
58 0.023( 0.040 0 0] O| 0.031 0.075 1 0] O O| x| 0.026( 0.043] 0.160 72 11 x [ 0.001| 0.003 0O O
BB 0.021( 0.040 0 0| O| 0.022 0.055 0 0| O O| x| 0.025( 0.043] 0.170 62 9] x| 0.001| 0.004 0lO|O 0.5 1.0 0 0.21 0.68 76
bax:!l 0.019( 0.039 0 0| O| 0.033[ 0.068 1 0] O O| x| 0.032 0.054| 0.166 105 13[ x| 0.004| 0.007 0O O
KE 0.024( 0.046 0 0] O| 0.029( 0.071 0 0| O O| O] 0.022| 0.036 0.132 55 1] x| 0.003| 0.007 0O O 0.5 0.9 0O O
b=3:] 0.021( 0.044 0 0| O| 0.036( 0.081 1 0] O O| x| 0.031 0.050| 0.162 91 10| x
I 0.020( 0.042 0 0] O] 0.030f 0.077 0 0] O O| x| 0.031| 0.052| 0.152 90 8] x| 0.001| 0.005 0lO[O 0.18 0.69 53
[&EHE] X 0.022| 0.043 0 0 0.030( 0.072 4 0 0.028| 0.047| 0.161 829 90 0.002( 0.004 0 0.5 0.9 0 0.22 0.79 76
Sk EN=F 0.031( 0.054 0 0| O| 0.034( 0.072 0 0] O O| 0O 0.001( 0.003 0lO|O 0.6 1.1 0O O 0.58 1.87 349
stEH 0.030( 0.050 1 0| O| 0.038[ 0.081 0 0] O (o] Ke) 0.8 3.5 0O O
=i-1=F: 0.028( 0.046 0 0l O| 0.031( 0.087 2 0] O Of x 0.5 1.0 0]O| O 0.46 1.40 239
Pkl =k 0.026( 0.045 0 0| O| 0.028( 0.068 0 0] O O| O
S5HAEBEH 0.030( 0.053 0 0l O| 0.030( 0.069 0 0] O (o] K6) 0.5 0.9 0O O
7R B HE 0.029[ 0.050 0 0] O] 0.031f 0.075 0 0] O [e]Ke) 0.19 0.76 37
[&EHE] X 0.029( 0.050 1 0 0.032[ 0.075 2 0 0.001| 0.003 0 0.6 1.6 0 1 1.34 208
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ppm ppm B B mg/m3 | mg/m3 [ B =] %8 ppm | ppm ppm B B ppm ppm B ppm | ppm =] wue/m3| we/md| H % (ppmC) | (ppmC) | (H)
—fg | L= EHHRRT| 0.022| 0.045 0 0| O| 0.026( 0.072 1 of O Of x| 0.028] 0.045( 0.131 66 2| x| 0.001| 0.003 0]O| O 0.3 0.9 [ el Ke] 0.30] 0.97 139
B/E 0.023| 0.043 0 0] O| 0.025( 0.062 1 o O Of x| 0.027| 0.044( 0.141 76 2| x| 0.001| 0.003 0]O| O
Efi5 0.020| 0.040 0 0| O| 0.026| 0.067 1 o O O x| 0.033| 0.054( 0.165 120 15| x [ 0.001| 0.003 0]O| O
BR 0.025| 0.044 0 0l O| 0.032| 0.067 1 o O Of x| 0.031] 0.052 0.152 110 9] x| 0.001| 0.003 0]O| O 0.17| 0.69 33
§% 0.022| 0.040 0 0| O| 0.028| 0.068 1 o O Of x| 0.030] 0.051 0.138 105 7] x| 0.001| 0.003 0]O| O
Ei1=-] 0.020| 0.038 0 0] O| 0.026( 0.051 0 0| O O| O] 0.032| 0.054( 0.157 128 16| x [ 0.001| 0.004 0]O| O 0.4 1.0 0jOfO 0.22) 0.77 70
haxill 0.019| 0.039 0 0| O| 0.029( 0.060 1 of O O x| 0.033] 0.054( 0.148 126 13| x [ 0.003| 0.005 0]O| O
= 0.022| 0.042 0 0| O| 0.026( 0.068 1 o O Of x| 0.029] 0.048( 0.134 93 3] x| 0.001| 0.004 0]O| O
b2} 0.020( 0.041 0 0| O| 0.035| 0.075 2 of O Of x| 0.029] 0.048( 0.116 89 0] x
W 0.020( 0.041 0 0] O| 0.025[ 0.065 1 0| O O x| 0.033] 0.053] 0.140 115 10| x [ 0.002| 0.005 0l|O| O 0.19] 0.73 59
[&£3HE] X 0.021[ 0.041 0 0 0.028| 0.066 10 0 0.031[ 0.050| 0.142 1028 77 0.001| 0.004 0 0.4 1.0 0 0.22) 0.79 75
B | AEH 0.031| 0.053 1 0] O| 0.032 0.075 1 0| O Of x 0.001| 0.003 00| O 0.5 1.4 0O O 0.57| 1.79 335
pud=F:13 0.029| 0.049 0 0] O 0.033| 0.069 1 o O Of x 0.5 1.2 0O O
== 0.032| 0.056 2 0] O| 0.025( 0.059 0 0| O O| O 0.6 1.3 0O O 0.41 1.15 213
KAMEEH 0.024| 0.043 0 0] O 0.021| 0.057 1 0] O Of x
SHEAEBEH 0.028| 0.048 0 0] O| 0.026( 0.059 1 0| O Of x 0.5 1.0 0O O
7R B HE 0.029| 0.049 0 0] O| 0.027 0.060 0 0| O O] O 0.20 .70 39
;izﬁiii@ 0. 02;,_, 3:0. Oiijo{-g% 3 0 0.027| 0.063 4 0 0.001| 0.003 0 0.5 1.2 0 0.39] 1.21 196
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ppm ppm 2] =] mg/m3 | mg/m3 A =] E 8 ppm ppm ppm 2] =] ppm ppm 2] ppm ppm =] weg/m3d| wg/m3y| H % (ppmC) | (ppmC) [ (B)
—#% [ S Lo FEH&AT 0.021( 0.037 0 0] O| 0.025[ 0.063 0 0 () O| O] 0.027( 0.044] 0.120 76 1] x| 0.001| 0.003 0O O 0.3 0.7 0] O[O 0.26 1.02 103
Eich=d 0.021( 0.038 0 0] O| 0.025( 0.069 0 0 () O| O] 0.031 0.050| 0.148 107 6 x| 0.001| 0.003 0O O
ERi5 0.019| 0.035 0 0| O| 0.024( 0.057 0 0 () O| O] 0.032( 0.051| 0.144 119 5[ x| 0.001| 0.003 0lO|O
=y 0.024| 0.040 0 0l O| 0.034( 0.065 0 0 () O| O] 0.030f 0.050| 0.141 98 3 x| 0.001| 0.003 ofO|O 0.18 0. 64 39
E-3: 0.020( 0.036 0 0| O| 0.028( 0.064 0 0 () O| O] 0.031| 0.051| 0.132 115 4 x| 0.001| 0.002 0O O
R 0.020( 0.035 0 0| O| 0.023( 0.045 0 0 () O| O] 0.029| 0.049( 0.139 100 4 x| 0.001| 0.003 0O O 0.3 0.7 0]O| O 0.20 0.73 46
bax:!l 0.016( 0.033 0 0| O| 0.027( 0.061 0 0 () O| O] 0.032( 0.052| 0.134 121 4 x| 0.003| 0.005 0O O
xE 0.020( 0.037 0 0l O| 0.026( 0.069 0 0 () O| O] 0.029| 0.047 0.107 74 0f x| 0.001| 0.003 0O O
b=y 0.018| 0.035 0 0| O| 0.032 0.073 0 0 () O| O] 0.032( 0.051| 0.134 112 2| x
W 0.018| 0.035 0 0] O| 0.023[ 0.055 0 0 O O| O] 0.032f 0.051] 0.138 113 3| x| 0.002| 0.004 0lO|O 0.16 0.70 35
[SEEHE] % 0.020( 0.036 0 0 0.027| 0.062 0 0 0.031| 0.050| 0.134 1035 32 0.001| 0.003 0 0.3 0.7 0 0.20 0.77 56
BHE s A B HE 0.029( 0.052 0 0] O| 0.033[ 0.069 0 0 () (o] Ke) 0.001| 0.003 0lO|O 0.5 1.1 0]O| O 0.49 1. 60 313
fud=F: 3 0.027| 0.045 0 0| O| 0.031| 0.067 0 0 () (o] Ke) 0.5 0.9 0O O
=EEH 0.030( 0.050 0 0l O| 0.030( 0.065 0 0 () (o] Ke) 0.5 1 0]O| O 0.38 1.16 198
RIBBEH 0.023| 0.039 0 0| O| 0.021| 0.052 0 0 O (o] Ke)
SH/rEBH 0.026( 0.047 0 0] O| 0.025( 0.056 0 0 () (o] Ke) 0.5 0.9 0]O| O
FEREBEHE 0.026( 0.047 0 0] O] 0.025[ 0.065 0 0 @) (o] Ke) 0.17 0.54 31
[E£5HE] X 0.027( 0.047 0 0 0.028| 0.062 0 0 0.001| 0.003 0 0.5 1.0 0 0.35 1.10 181
XBEZATE. TORETFHIEESA

XEISRIER CHFXE5E2-1-1 BB EHLEA)

- EHNREHR (PREAEFEN-1908-1 5EHAEN) (FREGELFATT




RIBEEFERRR (TLV=FH)

A7 : 20005 5
“BlER R RIE FEEAECF T “BiLRE —BiEE BIERBE FABRILAR
BRE|HTH H¥ 5
B e B | 160t . om B 2o Bl 0, o
aEs| s |S28 15 | A |k | o | |2 | o | B2 | mpo | 1B | s | s | E| % RFy &5 rpsg| Tap | oo | & | |o~om | S5 | i
Bl ez 0. 06pp | T 15 B9 0. 1ome| 5B | @7 | 2| 8| 1mspy | OBS | ipm | MO | g (1 2510, 0app | 2| 28 2| a8 o |95.0u @z | 4|1 12s1r | D3 | s
& mEm || o | L0 a0 | | et | mo |0 e AT g | AP | ey | 1 o ogpp | TEDY 1B | i | monon| O 04PP | ay | b | s | 2% | 1000 | 0 | o | Tagim | TEOF (35 0u (AL BT pasp e | BD
B AY | 1EE 1o 06pp | 7 Bt | (T35 | MIEAY) B2 |5 | g | AT | gy | OB | g |0 12001 5 Bovi | 752 o | 5 Botie | &8 |5 | M98k |e/i% | BMO | K |\ K | DEF | 55,5 |0 3100
i |zrm (%200 axr|o ton|muik |32 | BOF | 152 I noik | B R | | i -l i i B |@xr|ann || vE (TR cee
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# ALt =3 #
A% |0oEE AENE
ppm ppm 2] =] mg/m3 | mg/m3 A =] E 8 ppm ppm ppm A =] ppm ppm 2] ppm ppm =] weg/m3d| wg/m3y| H % (ppmC) | (ppmC) [ (B)
—h% [ S Lz FEm&AT| 0.019( 0.038 0 0] O| 0.021| 0.049 0 0] O O| O] 0.034| 0.054| 0.156 121 7] x| 0.001| 0.003 0O O 0.3 0.7 0] O[O 0.30 0.87 137
Eich=d 0.019| 0.037 0 0| O| 0.023[ 0.052 0 0] O O| O] 0.034| 0.054| 0.151 122 6] x| 0.001| 0.003 0O O
Enis 0.018( 0.038 0 0| O| 0.022 0.050 0 0] O O| O] 0.036] 0.056| 0.145 132 7] x| 0.001| 0.003 0lO|O
aR 0.024( 0.044 0 0l O| 0.032| 0.061 0 0| O O| O] 0.031 0.052| 0.138 114 2| x| 0.001| 0.002 0O O 0.19 0.77 46
58 0.019| 0.035 0 0| O| 0.027 0.055 0 0] O O| O] 0.033| 0.054| 0.161 129 7] x| 0.001| 0.002 0O O
BB 0.020( 0.038 0 0| O| 0.027( 0.055 1 0| O O| x| 0.031 0.051| 0.145 105 2| x| 0.001| 0.003 0lO|O 0.3 0.6 0]O| O 0.20 0. 66 53
bax:!l 0.016( 0.034 0 0| O| 0.024( 0.051 0 0] O O| O] 0.033] 0.053| 0.165 120 7] x| 0.002 0.005 0O O
KE 0.020( 0.040 0 0| O| 0.024( 0.055 0 0| O O| O] 0.032| 0.052 0.153 115 7] x| 0.001| 0.003 0O O
b=3:] 0.018| 0.037 0 0| O| 0.025( 0.050 0 0] O O| O] 0.033( 0.052| 0.154 110 6| x
A 0.017| 0.037 0 0] O| 0.021| 0.049 0 0] O O| O] 0.033] 0.052] 0.158 98 2] x| 0.001| 0.003 0lO[O 0.17 0.69 36
[&EHE] X 0.019( 0.038 0 0 0.025[ 0.053 1 0 0.033| 0.053| 0.153 1166 53 0.001| 0.003 0 0.3 0.7 0 0.22 0.75 68
Sk EN=F 0.029( 0.052 0 0l O| 0.031| 0.059 1 0] O Of x 0.001( 0.003 0lO|O 0.5 0.9 0]O| O 0.51 1.09 341
Pud=k:3 0.026( 0.047 0 0| O| 0.028[ 0.059 0 0] O (o] Ke) 0.5 1.0 0O O
== 0.028( 0.047 0 0l O| 0.029( 0.063 1 0] O Of x 0.5 0.9 0]O| O 0.29 1.00 115
KAMEEH 0.022( 0.041 0 0| O| 0.023( 0.051 0 0] O O| O
SHEAEBEH 0.026( 0.047 0 0l O| 0.023( 0.048 0 0] O (o] Ke) 0.4 0.9 0]O| O
7R B HE 0.025[ 0.048 0 0] O] 0.022f 0.048 0 0] O (o] Ke) 0.16 0.55 31
[&&HE] X 0.026( 0.047 0 0 0.026( 0.055 2 0 0.001| 0.003 0 0.5 0.9 0 0.32 0.88 162
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ppm ppm =] B mg/m3 | mg/m3 =] B ES ppm ppm ppm =] B ppm ppm B ppm ppm B pg/m3| peg/m3| H % (ppmC) | (ppmC) | (A)
—h% [ S Lz FE %A 0.018( 0.038 0 0| O| 0.022 0.050 0 0| O O| O] 0.035| 0.056| 0.216 118 18] x [ 0.003| 0.005 0O O 0.3 0.7 0] O[O 0.24 0.64 73
Eich=d 0.022( 0.047 0 0| O| 0.021| 0.058 0 0l O O| O] 0.035( 0.056| 0.220 121 171 x| 0.001| 0.003 0O O
Enis 0.017 0.034 0 0| O| 0.020( 0.052 0 0ol O O| O] 0.036] 0.057| 0.223 122 17 x| 0.001| 0.003 0lO|O
aR 0.021( 0.039 0 0| O| 0.031| 0.064 0 0l O O| O] 0.032| 0.054| 0.172 107 16] x [ 0.001| 0.002 0O O 0.17 0.54 30
58 0.018( 0.036 0 0| O| 0.019( 0.049 0 0ol O O| O] 0.035( 0.057| 0.210 119 16| x
R 0.019( 0.036 0 0l O| 0.020( 0.051 0 0l O O| O] 0.033] 0.055| 0.189 110 17] x| 0.002( 0.004 0O O 0.3 0.6 0]O| O 0.20 0. 60 48
bax:!l 0.015( 0.034 0 0| O| 0.023[ 0.054 0 0ol O O| O] 0.035| 0.056] 0.203 113 14] x [ 0.002| 0.005 0O O
KE 0.018| 0.037 0 0| O| 0.022 0.056 0 0l O O| O] 0.033] 0.053| 0.172 107 13| x| 0.001| 0.003 0O O
b=3:] 0.017| 0.037 0 0| O| 0.022 0.051 0 0ol O O| O] 0.034f 0.057| 0.210 116 17] x
A 0.017| 0.037 0 0] O| 0.020f 0.052 0 0] O O| O] 0.034 0.054] 0.178 112 10| x | 0.001| 0.003 0lO[O 0.14 0. 65 26
[&EHE] X 0.018| 0.038 0 0 0.022( 0.054 0 0 0.034| 0.056| 0.199 1145 155 0.002( 0.004 0 0.3 0.7 0 0.19 0.61 44
Sk EN=F 0.028( 0.048 0 0l O| 0.028( 0.060 0 0] O (o] Ke) 0.001( 0.002 0lO|O 0.5 0.8 0]O| O 0.50 1.22 331
Pud=k:3 0.026( 0.044 0 0] O| 0.026( 0.053 0 0] O (o] Ke) 0.5 0.9 0O O
=EEH 0.027( 0.045 0 0] O| 0.028( 0.065 0 0] O (o] Ke) 0.5 0.9 0]O| O 0.28 0.96 110
RIBBEH 0.020( 0.037 0 0] O| 0.021| 0.053 0 0] O O| O
SH/rEBH 0.026( 0.045 0 0l O| 0.021| 0.051 0 0] O O| 0O
FEREBEHE 0.025[ 0.045 0 0] O] 0.021| 0.057 0 0] O (o] Ke) 0.16 0. 61 23
[&&HE] X 0.025( 0.044 0 0 0.024( 0.057 0 0 0.001| 0.002 0 0.5 0.9 0 0.31 0.93 155
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